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m Household-work strategies were shaped by the onset of
the industrial revolution and the changing structure of the
family. The expansion of industry led to mass urbanization
as new opportunities caused huge numbers to migrate from
rural communities into urban areas.

Contemporary family structures evolved in response

to industrialization, science, and technology. With the
development of specialized wage labour, work moved
beyond the reach of the family unit and led to the
redefinition of family relationships. Urbanization produced
a shift from the more nuclear families that had previously
existed, to more extended family forms in towns and cities.

Source: student essay
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1 Match the definitions to keywords from text A.

» EXAMPLE: to change gradually because of circumstances evolve
1 the growth of something in terms of size

2 to affect the way something happens

3 a gradual change from one thing to another

4 to move from one place to go and live and/or work in another
5 because of something that happens

2 Complete the table. Use the glossary on pp.129-144 to help you if necessary.

expansm n m|grate
3 Complete the sentences using the best form of a word from the table. More than one option
may be possible.

1 Research in molecular biology gradually from the analysis of single genes to the
analysis of whole genomes.

2 The rapid of higher education in the region has highlighted an increased need for good-
quality teaching.

3 Organizations and companies that quickly to change are successful.

4 The paper looks at the role of science and scientists in public policy in a range of areas.

Founded in 1978, the business
established leader in its industry.

slowly from a small contracting company to an
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